[ Efficiency vs vertpos |
0.2r

0.18F
0.16F
0.14F
0.12F

0.1
0.08F -
0.06F
0.04F -4
0.02841]-

15[ 4

£

1072

—=— DQM_DisplacedSUSY__mkFit_BDT_
Efficienq —— pom_DisplacedSUSY__mkFit_

Of————————————
L O s s
0.08F - R RRCIELs! SR
0.07F--
0.06F -
0.05F-
0.04
0.03E}
0.02E}
0.01H I}
OF—+11

154

[ Efficiency vs. sim PV z |
0'1: . . . . . . .

0
s e
0.07F -+e-beesienenednnbn b
006; . . . . . . .

0.05F
0.04F -
0.032----E
0.02E |-
0.0

oF
1.4f

1.2F

£
-20 15 10 -5 0 5 10 15 20




	Contents
	Page 1


